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ER | kit S3L1.19 | #pbkiti 93 38 - - 6 6 0 0 2 0 0 0 0 0 0
R RN kit S31.12.14 | #bHkiti 218 518 - -0 10 0 0 1 0 2 0 0 0 0
R | K kit $32.5.24 | #pbkiti 144 169, - o2 12 0 0 1 0 2 0 0 0 0
wR | kit S34.7.16 | #pbkiti 24 91 - - 5 5 0 0 0 1 1 0 0 0 0
L PN 1 kit $34.10.19 |#Hkiti 66 218 - SR 13 1 0 1 0 2 0 0 0 0
HIER (s B Akt S35.7.18 | bkt 6 32 - - 7 7 0 0| 1 0 1 0| 0| 0) 0|
R | %m kit $38.4.17 | #pbikiti 20 81 - - 6 5 1 0 1 0 0 0 0 0 0
R | kit S47.12.26 | skt 161 162, - -0 10 0 0 1 0 1 0 0 0 0
EI | Yk kit H20.2.8 (b, SIAT 3,897| 8,168 - 22 20 0 2 1 0 2 6 0 0 0
ER | Akt $42.3.31 | #ibikrti 51 123 - - 6 6| 0 0| 1 0 2| 0| 0| 0 0|
HR A kit $50.1.27 | #pbikiti 100 235 - - 6 6 0 0 1 0 1 0 0 0 0
EIR | kaok i kit $50.6.27 | #pbikiti 242] 632, - - 9 9 0 0 1 0 2 0 0 0 0
EHER |1 ey it $27.8.2 |#siti 68 250 - - 9 9 0 0 1 0 2 0 0 0 0
HHR (iga kit $50.11.12 | #fsikiti 104 137 - - 8 7 1 0 0 1 1 0 0 0 0
kit $57.8.5 | #siti 531 1211 - N ERE 13 0 0 1 0 2 0 0 0 0
HR (T Ei-Uy $25.9.22 | ZihT 148 515 - -0 10 0 0 1 0 2 0 0 0 0
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(FFTEIA AR
it - qON] = -dON] LLEE JON]
HER AR
AT L BRI E %% %% Fiesd V?ﬁ% ey N SHES N i SEIIE
(k) e I
Gtk bk Gtk bk Gtk bk Gtk bk Gtk 33 Gtk 33 Gtk 33

B | Sy 527.2.22 | SIRNT, st 63 265, - - 9 9 0 0 1 0 2 0 0 0 0
1 ] Sy $27.4.10 | AT 158 194 - -0 10 0 0 1 0 2 0 0 0 0
B | fm Sy $27.8.2 | ZJhT 76 203, - -0 8 2 0 1 0 2 0 0 0 0
HI bl Etio $29.5.17 | =T 63 195 - - 8 8| 0 0| 1 0 2| 0| 0| 0| 0|
B |l Ei-Uy 529.12.13 | ST, Fohkiti 69 310 - -0 10 0 0 1 0 2 0 0 0 0
ERR | AT $25.8.23 | /1Ml 175 341 - - 8 7 0 1 1 0 1 1 1 0 0
BRI |k ER R5.4.1 /kiT 163 1,089 - - 9 9| 0 0| 3| 0 1 2 0| 0| 0
LT P Akt $36.12.4 [/t 36 13 - -l 10 7 3 0 2 0 1 2 0 0 0
B | g AN H25.10.31 | /vkitT, 2 Uil 7 T 4,150 6,435 - - 20} 17 0f 3 2 0f 1 8 5 0 0f
R | i Skt S25.5.1 |/t 189 553 - -l 10 10 0 0 1 0 2 1 0 0 0
R |2 oo ZUD H29.11.28 | 2 Uifi 1,225 2,216 - -l 17 0 0 1 0 2 3 2 0 0|
EIR | AR I $27.3.31 |IAT 107 292 - -z 11 1 0 1 0 2 0 0 0 0
HIR | fesp I $33.2.25 |IAT 143 241 - - 7 7 0 0 1 0 1 0 0 0 0
R |§m AR $35.4.28 | FIAT 57 133 - - 8 8 0 0 1 0 2 0 0 0 0
EIR (i I $44.10.8 | IRAT 16 91 - - 8 6 2 0 1 0 1 0 0 0 0
HIR | e I $45.2.12 |#IRAT 52 122 - - 8 8 0 0 1 0 1 0 0 0 0
R (i e AT H8.2.28 | IAT 76 128 - - 6 5 1 0 1 0 1 0 0 0 0
I E I H15.10.8 | /AT 63 128 - - 7 7 0 0 1 0 1 0 0 0 0
ER |k Wit $25.3.31 | PR, HTETAT 590 896 - - 10 9 0 0 1 0 3 2 2 0 0
EHR | Ly $36.12.4 | i 202 311 - - 7 6 1 0 1 0 2 1 0 0 0
ERI | )] Vit $49.2.13 | PR ERHANT, HTETHT AN 2,202 2,356 - - 17] 13 0 3| 1 0 2| 11 8 0 0
ER | R Lt $50.8.13 | v it 513 712 - - 10 10 0 0| 1 0 2| 1 0| 0| 0
R | =i Wit $53.5.10 | Pt 582 781 - - 13 12| 0 0 1 0 3 2 2 0 0
|01 AT S26.3.31 | FHANT, AKKAT, JIIHTRT 779 1,471 - - 14 9| 1 3| 1 0 2| 3 1 0| 2
| Hrany S27.8.1 | PR, HraTHT 107 56 - - 7 7 0 0 1 0 1 1 0 0 0

T S51.4.1 | iy, BiamnT 533 719 - - 7 5 0 1 0 1 2 3 0 0 2
1T PHE Ay $27.8.2 | ASRAT 81 127 - - 8 7 0 1 1 0 1 1 1 0 0
T Y Jrmr $33.12.10 | HBEEAT, JIIFERT 1,360 1,120 - - 14 10 0 2| 1 0 2| 5 0| 0| 0)
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AT L BRI E %% %% Fiesd V?ﬁ% ey N SHES N i SEIIE
() e I
Gtk etk Gtk etk Gtk etk Gtk etk Gtk etk Gtk etk Gtk etk

ER i UL §52.5.2 | AHRHT, I RS 658 794 - - 11 11 0 0 1 0 2| 1 1 0 1 0
L pnr $58.11.2 )11, 350 90 172 - - 8 6 0 2 1 0 2 0 1 0 0 3

HE N7 S27.6.14 | ENl 7 5 54 - - 5 5 0 0 1 0 1 0 0 0 0 0
R | HEN 7 $55.3.19 | Efil 7 38 156 - - 6 5 0 1 1 0 1 0 0 0 0 0
HHI | HE HI4.12.1 |Gl 663| 1,882 - S22 22 0 0 1 0 3 1 2 0 0 0
I |k %T)ﬁ'ﬁ(wm S13.8.2 | 4Nt (1R L 707) 28 115 - -l B 0 0 1 0 P 0 0 0 0 0
|G %T)ﬁ'ﬁ(wm H2.8.1 |Gl f7 (1R 707) 19 59 - -l e 5 0 1 1 0 P 0 0 0 0 0
EHR | E AN so5.11.13 | s (e 1) 6 205 - 4 on 9 0 1 1 0 P 0 0 0 0 0
EIL | A 528.3.10 | Rt 86 160 - - 9 9 0 0 1 0 2 0 1 0 0 0
B (e bk F i H24.10.26 | A i i 23 107 - - 1 11 0 0| 1 0 1 0| 0| 0| 0| 0|
LT FTRN 117 $13.3.30 | )17 102 256 - - 9 9 0 0 1 0 1 0 0 0 0 0
EEI | =g 5 T RNT $25.9.22 |t FREHT 11 117 - - 1 7 0 0 1 0 2 0 0 0 0 0
ER |l TRl §25.9.22 | FREHT 15 38 - - 5 5 0 0 1 0 1 1 0 0 0 0
HHI | $26.12.5 |t FAEHT 88 239 - - 1 7 0 0 1 0 2 0 1 0 0 0
EI | i 5 T RT $27.5.31 |t FREHT 20 51 - - 1 7 0 0 1 0 1 0 0 0 0 0
e (i 527.10.31 |5 FRENT 12 10 - - 1 7 0 0 1 0 1 0 0 0 0 0
I | 5 T RNT RA.2.16 |5 FHeMT 131 299 - - 5 1 0 0 1 0 2 0 2 0 0 0
S | e 5 T RNT RA.3.16 |5 FHMT 113 225 - - 6 6 0 0 1 0 2 0 1 0 0 0
e EE2 s $50.3.31 | B ZHAT 99 285 2 - 9 9 0 0 - - 2 1 0 0 1 0
HER | T T $26.9.26 | i/ HHT 15 145 - -l u 10 1 0 1 0 1 0 1 1 0 0
BB | BTG Y Byt HL3.29 IR Es T 212 524 - - 7 1 2 1 1 0 1 2 0 0 2 0
BB v x R VHREABH | H2L12T |WbEaAE 192 848 - -2 10 0 0 1 0 1 1 0 0 0 0
B | Y5 A S17.8.3 | A 217 721 - -l 10 10 0 0 1 0 2 1 1 0 0 0
BB | SEBTSE By H9.6.12 | A il 942| 2,230 - -l 12 0 1 2 0 1 1 0 1 1 0
TR %’gt & Eil 526.2.5 |MEoEil 92 273 - - 10 10 0 0| 1 0 2| 0| 0 0| 0 0
TR ﬁ%’“ rEoEil 528.4.9 |MEoEl 19 146 - - 9 8| 0 0| 1 0 1 0| 0 0| 0 0
TR B gﬁ‘i & Eil $63.2.10 |EoEifT 200 445 - - 9 8| 0 0| 1 0 2| 0| 0 0| 0 0
TR B %’g‘fif%/vﬁ & Eil R3.12.27 |M&oEifi 314 432 - - 8 8| 0 0| 1 0 2| 0| 0 0| 2 0
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(FRMTEIA3LARAFE)
HFH(N) 58 = {ON} LLEE JON]
M
. it I
Gtk bk Gtk bk Gtk bk Gtk bk Gtk 33 Gtk 33 Gtk 33
Y R ?ﬁ/ﬁ%(fm;’w g Rk HIT.12.20 |#i&o & 923 2,999 - - 17 117] 0 0 1 0 2 3 2 1 0| 0|
JBULEI B2 pR 0 B 4iaS et HIS.6.1 |HSDEilT 18 125 - - 7 7 0 0 1 0 2 1 0 0 1 0
TR A D M it S18.5.2 |t bLMG T, HE U 7 5818 10,783 - -l 18 0 3 1 0 1 24 18 6 0 0
B T b faf s27.4.24 |fapEi 301 811 - - 6 6 0 0 1 0 1 1 1 0 0 0|
YR [ RREN RN RIS | 7 S58.4.1 | g 3912 9,910 - S| o8 28 0 0 1 0 2 5 3 2 0 0
BB g FRESERSOENT | HIS.12.20 |&%nr L7is| 4,074 - -l om 21 0 0 1 0 2 1 1 1 1 0
BRI R Bt $27.2.25 |BIARHT 61 185 - - 7 7 0 0 1 0 1 0 0 0 0 0
BRI TSR Hkiti $12.3.31 | Hikiti 194 83 - - 8 8 0 0 1 0 2 0 0 0 0 0
BRI GRS Hk $15.12.23 | 2379 5,118 - -l u 11 0 0 - - 3 18 11 1 2 0
BB | G R Hi $29.9.25 | Hikiti 306 670 - - 5 5 0 0 1 0 2 1 0 0 1 0
HESLR [ Hkiti S27.8.1 kit 106 304 - - 9 9 0 0 1 0 2 0 0 0 0 0
LT e it HACH S B HT S27.12.1 |RBAT 23 130 - - 7 7 0 0 0 0 3 0 0 0 0 0
LU iyeresiiing HACH S B HT $32.1.14 | R MHT 16 91 - - 7 7 0 0 0 1 1 0 0 0 0 0
LT Y iy HACH S B HT $51.5.23 | R BT 140 229 - - 9 9 0 0 1 0 1 0 0 0 0 0
BRI | SERE R HACH S B HT S61.12.1 | R BHT 120 66 - - 9 9 0 0 1 0 1 0 0 0 0 0
BRI | BRI FHhi S25.12.27 | il 550( 2,890 - -l om 19 2 0 1 0 2 1 2 1 0 0
YR R Hhiti $50.2.25 | By, b it 790 770 - - 16 0 1 - - 3 3 3 0 0 0
UETY o Bl 556.6.6 | kili 134 232 - - 9 9 0 0 1 0 1 2 1 0 1 0
[ LT ok Hhiti $12.3.20 |F Ryt 303| 1,783 - -l s 18 0 0 0 1 2 3 2 1 0 0
YR R Hhiti $12.9.25 |kt 56 14 - - 5 5 0 0 1 0 0 0 0 0 0 0
BB | DR S T Bt $26.6.14 | KR it 100 610 - -l 10 10 0 0 1 0 2 1 0 1 0 0
[T oy i it S26.7.31 |#Eiti 35 200 - - 6 6 0 0 1 0 2 1 0 1 0 0
R R | BB ST Bt S21.7.7 Mkt 61 142 - - 8 6 2 0 1 0 2 0 0 0 0 0
R R | P EAS i it S27.7.31 |# Rt 124 252 - -l 10 9 0 1 1 0 2 0 0 0 0 0
R R | BB Bt $28.3.23 (KRt 110 193 - SRt 13 0 0 2 0 1 0 0 0 0 0
BB | BB RS eS Bt S3LILT |t 32 126 - - 7 6 0 1 1 0 2 0 0 0 0 0
R R | B2 i it s27.12.1 | st 152 146 - - 8 8 0 0 1 0 1 1 0 1 0 0
BEULRI | SRS Bt S31.4.3 MRt 2 131 - - 6 1 1 1 0 1 1 1 0 1 0 0
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it - qON] = -dON] kBN
e
. it i
Gtk etk Gtk etk Gtk etk Gtk etk Gtk etk Gtk etk Gtk etk
HEULR I | SR 1 FLRRIA AT 528.4.9 |iknT 212 587 - - 9 9 0 0 1 0 2 1 0 0 0 0
R | ST REAREART | S43.3.22 [iAKNT 184 621 - -2 12 0 0 1 0 2 1 0 0 0 0
BB | b R R it $26.10.10 |{Hkiti 174 360 - - 1 6 0 0 0 1 2 1 1 0 0 0
BB | b A it 527.3.20 | 729| 1,389 - -l 11 0 2 1 0 2 2 1 0 0 0
BB | i et $27.7.20 | (et 178 202 - - 9 8 0 0 1 0 2 1 0 0 0 0
BRI | b3 BB A e 527.7.30 |t 279 125 - -l 10 8 0 1 1 0 2 1 0 0 0 0
BV B é;é;(ﬁz‘{” e S27.7.31 |Gkt 91 172 - - 8 7 0 0 1 0 2 1 1 0 0 0
BB | by R it $45.3.30 |t 132 268 - - 8 7 1 0 1 0 2 1 1 0 0 0
BB | \E e HI.11.6 | (et 13 92 - - 6 5 0 0 1 0 2 1 1 0 0 0
BB | b R FHEiti H10.2.25 |fHkciti Lor2| 1,943 - -l 16, 2 0 1 0 2 2 1 0 0 0
UL T P g S et H20.12.24 | (et 378 695 - Rt 11 0 2 1 0 2 1 1 0 0 0
BB | B0 RLATA Rt 525.9.10 |l 58 381 - -l 10 9 1 0 1 0 2 0 0 0 0 0
UL Rt 525.11.29 | BT 326 664 - - 8 8 0 0 1 0 1 2 1 0 0 0
[V Rt S27.5.8 Bkl 160 118 - -l 10 10 0 0 1 0 2 0 0 0 0 0
[V Rt $27.5.30 (BT, HFHHIT 22 104 - - 8 5 3 0 1 0 2 0 0 0 0 0
VAT Rt 528.3.19 |l 34 284 - -l 14 0 0 1 0 2 0 0 0 0 0
BRI Rt 528.3.24 |l 54 291 - - 8 7 1 0 1 0 2 0 0 0 0 0
VAT Rt S28.4.3 B 67 119 - -l 14 0 0 1 0 2 0 0 0 0 0
VAT Rt $35.1.28 |l 279 768 - -l 16 16 0 0 1 0 2 2 1 0 0 0
R R | BRI Rt $35.11.5 |, AT 2,302 3,553 - -l 19 16 1 1 1 0 2 13 12 0 0 0
LR Rt SAL3.15 |l 239 627 - -l 17 0 0 1 0 2 0 0 0 0 0
YR | RS BER $13.6.6 | 268 701 - - 7 7 0 0 1 0 2 0 0 0 0 0
B | R R R S14.6.3 | 182 156 - -l s 15 0 0 1 0 2 0 0 0 0 0
B | B OLAs Rt $48.9.21 |l 113 238 - -l 10 9 1 0 0 1 2 0 0 0 0 0
YR | RS R B $49.1.10 |t 160 195 - - 7 7 0 0 1 0 2 0 0 0 0 0
BB | SR Rt S56.5.8 |kt 195 1516 - -l 16 16 0 0 1 0 2 3 2 0 1 0
YR RS RE B HL12.9 | 80 165 - Rt 13 0 0 1 0 2 0 0 0 0 0
[T i kit $46.11.8 | kil 586 2,286 - -l s 18 0 0 1 0 2 3 1 0 0 0
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A (N EARE (N [LEE{ON]
gl
E i i
Tk It Tk It Tk It Tk It Tk Itk Tk Itk Tk Itk
BRI SRR JFIBABSCR AT | S26.3.15 | e ET, SRR, JFFASAT 695 973 - - 9 8 0 0 1 0 2 2 1 0 1 0
BRI RT3 BT S27.8.1 | HF(HIT 146 73 - - 5 5 0 0 1 0 1 0 0 0 1 0
BRI TR SFIEABIF AT S54.4.2 | IFAAT 760 2,174 - -l n 11 0 0 1 0 1 3 1 0 0 0
BRI | IFBABEFASAT | H24.8.16 |BEREHT, SFAHRT 1537 3,199 - Rt 10 2 1 1 0 2 1 0 2 1 0
YR R SFIBABFEAREAT | S27.2.14 | GITHT, HIAKEAT 256 1,098 - - 9 9 0 0 1 0 2 2 0 0 0 0
BRSO R JFFIBABFEARERT | $62.10.13 | FHITHT, HIAKEAT 78| 1,357 - - 12 0 2 1 0 2 2 0 0 0 0
BRI | SEERS R i $25.10.28 |whhiti 72 238 - -l 10 10 0 0 1 0 1 1 0 0 0 0
UL e g st RL2.14 [R 200 148 - - 7 6 0 0 1 0 1 0 0 1 0 0
R B e it S10.5.10 |Gty RN ARSIl 605 1,292 - -| 2 20 0 2 1 0 1 0 2 0 0 0
R R |3 S H23.1.7 | hdit 2,052 3,711 - - 12 10| 1 1 1 0 2| 5| 0 0| 0 0|
R R S S27.8.1 [Ehditi 135 515 - - 12 12] 0 0| 1 0 0| 0| 0 0| 0 0|
BRI S A S60.8.14 [t AT 3,070 1,203 - - 18 15] 0 3| 1 0 2| 1 1 0| 0) 0|
BRI | & RS A $35.12.20 | EA Tl 108 171 - -l 10 10 0 0 1 0 1 0 0 0 1 0
BB |2 ER At SUL10.11 |ty 620 996 - - § 7 0 0 2 0 1 1 0 1 0 0
YL B | S5 R A s27.4.24 |z 52 225 - - 7 7 0 0 1 0 2 1 0 0 0 0
LT e ) A $26.3.31 |tz iti, KuHT Iy 195 - - 6 6 0 0 1 0 2 0 0 0 1 0
HER R | ST il $26.5.18 |l KMFHT 48| 1,063 - - 7 7 0 0 1 0 1 0 1 0 0 0
BB | FE A S26.11.5 |tz 395 728 - - 9 9 0 0 1 0 2 1 0 0 0 0
R BB A SIBLLL | efity, AT 1381|1509 - A os 5 0 0 1 0 2 1 0 0 0 0
PV T N ERSIERLY $26.3.30 | AT, A LT 282 626 - - 13 0 0 1 0 2 0 1 0 0 0
VR S AR AR HI7.3.1 (BRI, AT, KT 4,000 5,116 - - 18 13] 2| 3| 1 0 2| 5| 1 0| 0) 0|
BB | FOBYTL W2 # il 541.2.22 [W2&ili 2,182 1,694 - - 10 10| 0 0 1 0 2 2 1 0 0| 0
BB | RIS FEBHBH AT | S40.11.16 [T 3,262 1,807 - - 8 8 0 0 1 0 2 3 0 0 0 0
UL kechas e FEEHAATAT | S27.8.2 [T 805 994 - SRt 11 0 0 1 0 2 1 0 1 1 0
BB BE FEBHBRAST | S63.4.22 [RARNT 132 454 - -l 10 8 0 1 2 0 1 2 0 0 1 0
BRI | %5 (= HIL.7.26 |51 158 555 - -l n 8 1 2 2 0 1 3 0 0 1 0
B | 3 N H8.3.11 [ E AT 2,257 1,137 - -l 10 7 1 2 1 0 2 5 1 0 0 0
BRI | S ER PNCE ERT H24.1.13 |2 BMT, FHRAT, (Hlimy 3,451 3,438 - -l s 13 0 5 1 0 3 6 0| 2 0| 0
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Gtk etk Gtk etk Gtk etk Gtk etk Gtk etk Gtk etk Gtk

B |52 K BB HIIET S3L.6.15 | (FHiliAT 110 370 - -l 10 9 0 1 0 3 0 0 3 0 3 1 1 1 0
R R | BEORES PN-T ity H26.3.3 | FEAT, 4T 2,492 2,531 - -l 11 0 2 0 1 2 0 2 0 7 5 [ 0 2
PR ST il HILAIT |43 1,326) 2,583 - -l 20 18 0 2 0 1 1 0 3 0 8 3 0| 1 1

SR $63.2.23 A 4RA 21 al - - 6 5 0 1 0 3 1 0 2 0 1 0 1 0 0
U %@f}ﬁﬁ FLEE H5.2.25 |EEFRERT 375 426 - - 10 9 0 1 0 2 1 0 1 0 6 4 1 0 1
PR | Skt Gk H4.3.26 | 4:AT 284 510 - -l 10 9 0 0 1 3 1 0 2 0 1 3 0 1 0
PR |k FHLH H10.3.18 |{HTA! 650 1,229 - - 10 8| 1 1 0 3 2| 0 1 0 5 4 1 0 0
L |8 % 1 THRAH H28.10.17 | G4 Kt 546 226 - -l ou 9 1 1 0 3 2 0 0 1 3 2 1 0 0|
PR | TERK S57.12.20 |{(FERAS 122 72 - - 7 6 1 0 0 2 2 0 0 0 2 2 0 0 0
L PP il S5l $63.6.18 |95 %il7 123 470 - -l 10 9 1 0 0 3 2 0 1 0 2 0 0 0 0
PRI |5 o R IBE SSLLT |95kl 10 22 0 0 5 4 0 1 0 2 0 1 1 0 2 0 0 0 0
PR | R EE §18.3.16 |95l 32 26 0 - 7 7 0 0| 0 3, 1 0 2| 0 1 0| 0 1 0

S5l H19.8.31 |5%%il 225 1,597 - -l 15 11 2 2 0 3 2 0 1 0 3 2 1 0 0
PRI | 20 2%l §51.8.2 |95l 81 42 - - 8 8| 0 0| 0 3, 1 0 1 1 0 0| 0 0| 0
PRI |5 S ek L %%l $58.9.12 |95l 133 630 - - 8 8| 0 0| 0 4 - - 4 0 2 0| 1 1 0
PR | T BRK H5.2.24  (FEAv S 123 1,229 0 0 8 8 0 0 0 2 1 0 1 0 1 1 0 0 0
L B R3.5.13 61 380 - -l 9 0 1 0 2 1 0 1 0 1 0 1 0 0
L St H7.8.14 ig‘“ﬁfg{ 1,437| 4,175 638 -l 23 16 0 1 3 3 1 0 2 of 10 8 2 0 0
[ U s et ARy Sl H22.1.15 | il 34 163 - - 8 8 0 0 0 3 0 0 3 0 1 0 0 0 0

SR EHIT HI6.2.16 | Sk B5HT 685 657 - -l 13 0 0 1 3 1 0 2 0 2 1 1 0 0
L |G SR EHIT H26.11.25 | SR BSHT 600 667 0 0 11 10 0 1 0 3 1 0 2 0 2 1 1 0 0
PR |20 ErrT HLS.14 | il 9,495 9,432 217 0 14 12 0 2 0 3 - - 3 of 17 13 1 0 0
PR (oL Fi H20.4.1 |7 4,569 2,923 - - 15 11 1 2| 1 3 1 0 2| 0 19 13 2 1 2
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(HFIT4E3 A 31 A HRAE)
HEH(N) {12 {UN) Tk E % ()
Sne 7t HiX fE >
AR AR e B Btk mR | Rk 56 5% e 5% SHRIE .
o an ki N O B Zof R ol prow | R
Bk etk BrE b e | B & BUE[ k| BEE At BE
5CEHbnYp > (hA) KA, KA, B
e )1 FHiLCH) BB Kt H19.9.18 ﬁﬁJ\iz?ﬁAﬁ?ﬁéﬁiMl 13,562 | 16,522 11 8 0 3 0 3 1 0 2 0 5 0 0 0 0 4
R A5 B 0%, i i, J\ % X)) i, BReE T KAHT
N $38.1.16 |\ i 615 594 7 7 0 0 0 4 1 0 3 0 2 0 0 0 0 1
J\URifi S44.4.25 [\ it JAREBK)IIT 5,259 6,249 15 13 0 2 0 4 1 0 3 0 7 7 0 0 0 0
T{*}/J'b/mx A
FEAIL 7&”': “@)g . JURERK BT $52.12.26 [\ i, J\ARERK )BT 1,057 1,205 14 12 0 2 0 4 1 0 2 1 10 5 0 0 0 5
O\RFEARES, o
sy |ARER)ITGED) FEfiti §37.12.20 | F=4k: it 5,698 | 7,536 12 8 0 4 0 3 3 0 7 6 1 0 0 0
e, 2B, BEr)
g, | AL k) . PRI BTN E TR
(210 o EL| $27.8.2 977 1,497 9 7 0 1 1 3 1 0 2 0 4 0 0 0 0 0
ol b, i) LR
IR }zt",%(g,) san JIREHT H25.2.13 | E T, )1 T, 45 ny 1,577 1,184 6 5 0 1 0 3 1 0 2 0 5 4 1 0 0 0
(gh, /I
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